Notations :

1.Options shown in green color and with % icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name :

Duration :

Total Marks :

Display Marks:

Calculator :

Magnifying Glass Required? :
Ruler Required? :

Eraser Required? :

Scratch Pad Required? :

Rough Sketch/Notepad Required? :

Protractor Required? :

Show Watermark on Console? :
Highlighter :

Auto Save on Console?

Change Font Color :

Change Background Color :
Change Theme :

Help Button :

Show Reports :

Show Progress Bar :

Group Number :

Group Id :

Group Maximum Duration :
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Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :
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Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

MATHEMATICAL SCIENCES
180
300
Yes

1
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Cant View
No

517144131
1

Online
Mandatory
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100

Yes

0

1
517144403



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 1 Question Id : 5171449893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors can influence a student's motivation to learn?
& BN 2 @odven Dol ©grgd B85 (Harddo Sakam.

Options :
Genetic makeup
a3SgH 8RS ogso

Socioeconomic status

- PS8 ©fE ©odd)

Weather conditions
e e éﬂ%}é&m

Political affiliation

L% oo edeotio

Question Number : 2 Question Id : 5171449894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

You are a school administrator aiming to improve the institution's learning
environment. What steps could you take to achieve this goal? Select the
most appropriate options.
g a8 b R}Uﬁfméﬁ&éo@ g7l SPErSEedn SHXih Dasred a80TND
& ogsd8 o Sen Bodoerd). &P HBEDH 7B JowE Sasnsn

Options :

Implement rigid rules without student input.
am"é‘d{%l’_} SEn5ES SHore 88 Dohdredh eendding

1. %
Offer a variety of extracurricular activities.
- NG é’“’ﬂ)‘g@%éé seigBaroi [H8arbothe
Ignore feedback from teachers and students.
N SargEdinen, E)c:rné:}ég@ ®i)|arairon :{J%oéjgﬁéaotﬂjéa
Keep the institution's culture unchanged.
HoD éoég@@é’) Srdy Dohgoto
4. % @ «

Question Number : 3 Question Id : 5171449895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



What is a primary objective of learner-centered teaching?
Do éo@é&é 555 @res oy ofo 26 ?

Options :

Transmitting facts and information to students.

L TPYFPOR, DEPTTR) &)m@-ﬁi}oméj E6Tore)1o0)

Encouraging rote memarization of concepts.
ééédﬁmﬁw ag;a’aé 8 el [@Pdiroihe

2. %

Fostering critical thinking and independent learning.
3 @ Lo¥ ws®SS el egrgdiined osrohohHe)

Limiting student engagement to assessments only
Domstie AEPADHLD HBoHOH HrE:d H8E0 ot

Question Number : 4 Question Id : 5171449896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main objective of MOOCs?
MOOCs (55ri of5ehed

Options :
To offer degree programs exclusively online.
BIf seEgESred enghe® SrEsdh woisdant

1. ®

To provide high-cost specialized courses.
_ @808 HHOH HEE ardEineh donén I

To offer free and open access to a wide range of courses.

P DGS % rEESrO%H ©otibs 6D 53%0 ghoeo
3.

To limit access to courses for enrolled students only.

gy Earek @’);5“5'033& 265353)3“@3&26& &)m;dg@é) Seisad HBweso Dk
4. %

Question Number : 5 Question Id : 5171449897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does ICT stand for in the context of education?
D5 Bowosod ICT B8 Somofodod ?

Options :

| = Interactive Classroom Teaching

5 % Integrated Curriculum Training



3 Information and Communication Technology

. International Computer Tools

Question Number : 6 Question Id : 5171449898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary objective of descriptive research?
SEEE 58885 gy ©F0 2dH?

Options :

To manipulate variables and establish cause-and-effect relationships

L% Serodrein $5°8), 58, (Dgrd Lomorprd)) Je8 an

To explore and understand a phenomenon in its natural setting

-~ oof) S5 @dnbEe cﬁe\}ﬁ‘sﬁcﬁm@_ &93‘5310%’3, @iéoé"mg%aéa

To predict future outcomes based on historical data
c&vﬁt@vé@_é Serod esgeio&? FDgH Pered 05T RG0E

To test hypotheses and theories using statistical analysis
Keod D5 GHTRAD HBEHeD Hrposreih H680Hes

Question Number : 7 Question Id : 5171449899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a central tenet of positivist research philosophy?
émé&é éB%ﬁémééé@ Boll Hor(S$anb?

Options :

Reality is subjective and can be understood differently by different individuals.

THDES eHRSDIG DD B DD Bsrenr SYostDL D
1. #

Research findings are shaped by personal biases and opinions.
5888 HDareH Tat éé@“@vméﬁ, ofErciros’ dndaed.

2. %

Research should focus on understanding the underlying meanings and
interpretations of participants.
é‘r’eﬁgﬂ 78 @08 oo, ddnoin o FnEes® 1888%s
taerd.

3. %

Knowledge can be acquired through objective observation and measurement.
Kjt’mgéévé 5880580, BPeds® =ordy Hoarf0SH 5.
P = [=9 Tl
4.



Question Number : 8 Question Id : 5171449900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the literature review in the research process?
5685 (HBchS (ot ‘rﬁﬁ)ag aé%ﬂ;&a ?

Options :

To collect primary data from participants

. o,:"mégﬁ; TBH08 (I Sarod DESs
1.

To summarize the research findings

. 58885 HDared Dolltrohe
2.

To identify gaps in existing knowledge and establish a theoretical framework
38 %26065 wodorerh 18010, Hrpod ErHdEays 208P0B0HE
3.

To draw conclusions and make recommendations

SohoHeh D SrSdHen Dosnes
4. %

Question Number : 9 Question Id : 5171449901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The abstract in a thesis typically:
BrdE  568%5o a5 DolEisiedim

Options :

Contains detailed descriptions of all research methads
ety 506888 mgém Dind DNBeeamendy BOA Goeron

Is placed at the end of the thesis

, epod 5o DBY B

Summarizes the main points of the thesis in a concise manner

3 QEPOT® 575E) Hogy KRN B0y trHodt Soririnod.

Lists all the references used in the thesis
2}{:};0@0 mﬁééﬂéﬁ SRS &) DoDboHein erder 3@0&).

Question Number : 10 Question Id : 5171449902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Plagiarism in research refers to:
bela iatatililafeta FEgiw edre

Options :



Collecting data from multiple sources to ensure accuracy
PENSBSEWD grotherd 2y Hdhe Hol Sacod TESe

1. #

Properly citing and referencing sources used in the research
o w DOEEHE SH@PRODS DHBeH o w@HBPOD HFRD0WDE

Using others’ ideas, words, or work without giving proper credit
3o 588 $5B8aHS A°BHo ondore aste e3P S55en, Sreoen, HY S5BEA0LHE

Sharing research findings with the public
58888 HDsred Huos® HoHEe

4. %

Sub-Section Number : 2
Sub-Section Id : 517144404
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 5171449903 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume
Control : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Note: Answer the questions 11-15 by reading the following passage:

5008 (Bol =i Sirardo egrdore Q. 11&06 Q. 15 (D& Jirgraroe (@edhob.

Some of my critics have said, “Oh, he is a good observer, but he has no power of

reasoning!” | do not think that this can bhe true, for my ‘Origin of Species’ is one long
argument from the beginning to the end, and it has convinced not a few able men. No one
could have written it without having some power of reasoning. | have a fair share of
invention, and of common sense or judgment, such as every fairly successful lawyer or
doctor must have, but not, | believe, in any higher degree. On the favourable side of the
balance, | think that | am superior to the common run of men in noticing things which easily
escape attention, and in observing them carefully. My industry has been nearly as great as
it could have heen in the observation and collection of facts. What is far more important, my

love of natural science has been steady and ardent.

o 3]66353&@65 BP0t mer @anh, 6,57, @&k H0d HBdetid, sod @808 =0)E &8
85 I” 38 deo sBH50 JH 0585, dothdod IH 80P =HRS 5 5&‘3}5 9238
S0eE ol DH0 HBK a8 :(:oé:g) ae3E, bdio af Blosshod K}a‘ﬂ)d[%@ﬁ) e Eri
2.000358DA0H. Bod &8)E £8 Bome B [TPeHBE. (H8 D=cHBosIpd 50076
oo Sgtsr SHV6E BOA  ssotiond oferen  @0NSapio Gln @639)4335 TeBSEo. o
ErE & ofsren HIPoore &agcﬁjﬁ Jio Eécfmééaaaeﬁa.
Derd8, 3 Deore ESQ%;&‘ é?@piﬁjéﬁ L¥ciresn é}vuééorw KDoSos® HBck
B g KNoSEos” Fortn Sike K08 DHBN 8D ©d O, arhare
58408 Hbcn DESeE® o SO ororde ﬁ"a’}m\,ﬁﬂf} S8 a:%:}s;}. Trer S0gga
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Sub questions

Question Number : 11 Question Id : 5171449904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Critics condemned the author for want of
Dihden SIomE DHDFENEE podooedh.

Options :

common sense
’aoﬁéﬂw;eéo

reasoning
e)]=1o)

communication skills
_ gra) Jx)esg0

creativity
?’Jej %Eﬁ“éé_éé

Question Number : 12 Question Id : 5171449905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The above excerpt is taken from the autobiography of
2 arorodo oHES S0k 85085806

Options :

Charles Darwin
| ¢ T80 &80

Erasmus Darwin
&Jo%éﬁ 50655

Alfred Russel Wallace
s@)8 sd 8%

Charles Lyell.
o*0n DS

Question Number : 13 Question Id : 5171449906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author feels that successful lawyers and doctors are
DezchHBosDsd Tegaharthen HbBan Jgen @) SSond grdart.

Options :



generous

| % STPEERRYen

observers

) % 288e%en

industrious
#sh B5en

3 %

decision makers

%8 sond Bcho HBHHITH
4. ¢ e

Question Number : 14 Question Id : 5171449907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author’s inclination for compiling facts, reflects his
Tdare Sofeiso Jahtos® Bkond I8 i, 8 ) (B38200dnob

Options :

Diligence
égaié Saiy.
1. ¥

Reasoning
, & @G80

decision making
&goﬁ)o &0%S &5

3. %

motivation

4 ou (@O

Question Number : 15 Question Id : 5171449908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The synonym for the word-"ardent" is
0808 @ S8 Hoegaitio

Options :

insubstantial
©302FHFD

impatience
@HIEHo

eager

- ﬁaoga’:ruo



frail

2eirST
4. ®
Sub-Section Number : 3
Sub-Section Id : 517144405
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 5171449909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

communication helps in remembering details of earlier
conversations and interactions.

ééﬁﬁ&éﬁS H0i0Hd Sogrdssen s0BCin 5’)6?6365 {5556 SsoTeeRn
rﬁgo{jﬁ%éo@{’ SFahHthehob

Options :

retentive
| PO 28

reliable
Kaaﬁnéejﬁ:{)

inquisitive

R
=

consistent
%6@_326

Question Number : 17 Question Id : 5171449910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

provided by teacher in the classroom helps in building students’
confidence.

S5158 1KHS° SargRyinen ©ofodd Derghe DR 208r0B oS0
DadchHtheéod

Options :

assignment

© 308

positive feedback

- e Selat

lecture
ﬁ;’m@éo

negative feedback
BgBOEHD $y085:



Question Number : 18 Question Id : 5171449911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Effective communication across cultural boundaries relies heavily on maintaining
SrEBoBD @aéggjc?@@ Sogrie & Bwbd SEFRoSEOD AT
et G080,
Options :
negative
| % ©8tre

positive
) & FEre

indifferent

3 % SEHD

aggressive
SrEth

Question Number : 19 Question Id : 5171449912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lack of clarity and coherence in providing information, is an example of
barrier.
Sdraroed)) @obodEost s $Bakn grobE BESEDHL0

&0%05& e e le o

Options :

organizational
éoﬁ;ﬁeﬁ

psychological
Srag

emotional
epvﬁaég‘ﬁ

semantic

o
A SlsaVEalelafivy

Question Number : 20 Question Id : 5171449913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The usage of mobile phones for many functions like : to talk , to watch movies, to
send emails is an example of
Soetrtieno, mRdren drtiéo, Bshonen HoDso Hod @ Dhe %0

Jngd g8 Ao & &rrsrts

Options :

media convergence

L v g ooand

out-door media
@erBol resno

2. %

transit media

3 % Bare SPG5IN0

traditional media
Jroliorad dreigEno

Question Number : 21 Question Id : 5171449914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
10, 14, 22, 38,70, ___

Options :

| x 130

, v 134

L x 138

4 = 140

Question Number : 22 Question Id : 5171449915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

ATV, UQS, RNP, OKM,
Options :

| % HLJ

5 % JHL

5 % HIL

LHT
4.



Question Number : 23 Question Id : 5171449916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word LOCAL is coded as MPDBM. then which word is
coded as DBMMFS ?

2.8 QO 56 2N LOCAL &7 $¢50 MPDBM 1 §6& BAH2E8, ) H0
DBMMFS ™ §6 Dah2&05?
Options :
. CARROT

CODING
2. ®

\/ CALLER

CARING

Question Number : 24 Question Id : 5171449917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 9:11. If 6 1s added to the first and subtracted from the second.
the ratio reverses. Then the first number 1s

BOCR SoWEEN 9:11 AN )BT &) on. 3 8 6 SB0HDA. BOGSTR
A0G BVF W, AN 0355 55008, @53 )ch Jncked dowg

Options :

1. % 18

IF

2.
3 0% 36

4% 45

Question Number : 25 Question Id : 5171449918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A loss of 12% is incurred by selling an article for Rs. 132, Its cost price (in Rs. ) is

28 03c0)69 a0 Gr.132 8 e95D2¢80 TP ST° 12% a0 SN0H. AR &S

Options :

L@ 150

, % 120



Question Number : 26 Question Id : 5171449919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Statements:
No building is wall.
Some walls are rooms.
All buildings are rocks.

leo8ercden:

&) 2538530 '¢s s°¢.

& eden Meew.

BITOJ) TF.

Conclusions:

B No building is room.

I Some rooms are huildings -

lll.  Some rocks which are not buildings being walls is possibility.
BTN

1. o) Z56303a305° & S°EN

. ) fcoen Hdorew .

1. Z35ren 520 §°0) Feren fFEentr G0k @540 God.

Options :
| % Ilifollows

Either | or |l follows
2. %

| and IlI follow
3. %

4 1l and either | or Il follow.

Question Number : 27 Question Id : 5171449920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a class of 95 students, 40 play cricket, 50 play football and 10 play both cricket
and football. How many students play only football?

95 OB VT 5SS, 40 SHOA 18TE edePD, 50 D0 HE &S
385D SHBAD 10 SHOE (835 HBA H)ET 23S BoA0e3D esthesd. DO
0O DIgAen HE e (5D eschEEi?

Options :
1. ® 45

2. ¢ 30

3 % 40



4. ®

Question Number : 28 Question Id : 5171449921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my father's daughter’s mother’s only daughter-in-law related to my wife’s son ?

T So|& 5D 89 oBY Ben I eSS E 558" Qerod groti 5o 8OA 6ob ?

Options :
| Mother

5 # Father
3 % Brother

Sister

Question Number : 29 Question Id : 5171449922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The distinction between laukika and alaukika is made with reference to which one of the
following pramanas ‘7

€385 2000 eT"8E 0655 358500 821800 ¢3S ) 1DSTErE
NODOAOD BAHDAOA?

Options :

L% Anumana (Inference)

. Upamana (Comparison)

3 Pratyaksa (Perception)

S'abda (Verbal testimony)
4. %

Question Number : 30 Question Id : 5171449923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s signified by the term ‘hetu’ in the process of anumana
(inference) in classical Indian School of Logic?

SRES R0BANS &S a3 er3E & wodEd (DT Ee) (HEOHE e e
DR, &2 (808 73S DB HrDN0H?

Options :



Example Provided

. Gresrte @obodaiob
1.

Statement of reason
- se8ee0 B0 (HBED

Proposition to be proved

ABBoSHOND (HATED
3. %

Conclusion Proved
4 % S0hoYy moSadoh

Sub-Section Number : 4
Sub-Section Id : 517144406
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 5171449924 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
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Six different companies A, B, C, D, E and F manufactures a similar product . the

costs of raw material, labour cost and overheads per unit are given in the following
Multiple bar chart.
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Which of the companies has the maximum cost per unit?
) 50200 LTS B HE& ¥R &0H?

Options :
1.% A

%« B
3, % D

4.#]:
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If company B produces 5,000 units and sells them at Rs. &8, then the profit of the
company is __

07 B, 5,000 CHIDED &565)8 T GRTRES & &F. 68, e, e8¢
0D XS0

Options :

Rs. 1.65,000
1. %

Rs. 1.40,000

Rs. 1.15,000
3.

4% Rs. 1,55,000
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Which of the following statements is true?
806 [HELIOS DA d20?

Options :

The labour costs, of E and F are same.
E 00050 F G3nE) S0 e a3er &odrow.

The ratio of costs, Overheads and [abour is same for A, B and E.
D IE, L,30TTEED HBAL Bade) Ve A, B DO Eerdd
) # QRO G0EN0R.

The ratio of total cost of A and that of D is same as the ratio of total cost of E
and that of F

A OG5 D G3nE) 080 OO G308 Ve E HBasy F Aoy Jnedo
5 o OO B0y QNIBE JSTHOT SOLNOD



Labour cost of E is less then labour cost of F

E &5 g F Hab s EI7) $595
4%
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Company D can produce a maximum of 1000 units per day and company F can
produce upto 800 units per day. If these companies sell their products at Rs 60 and
Rs 80 respectively, then what percentage of D's profitis F's profit in the total
maximum production of 10 days?
07 D 8250 10501 1000 ORI S5eh )8 Toh D SHO0 LoDV F
E23°5) 800 CRTRE) SHB%) b 16 TODHEEN. & B0 6.9 s 1D
SBIQTP EP. 60 SOOI G, 808 DFowW, 10 Tere (05 cred ey, F gy
er250 & D By 220 JOs TS0 ?

Options :

L 15:16

, % 3:4

4% 9:10
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If after a few changes in the production process, the labour costs of B and C
become equal, then what will be the ratio of the total cost of the companies?

&5 18 DE0HS TR SIS0 ST°ces, B SO0 C gy Sb i jewn
DATSOM SO, E00AE D30 DK DN DO G0N0 ?

Options :
L 1:1
) % T2

Can not be determined

DYow0SG0 ardHso =40
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VIRUS stands for ?
S8 wde
Options :
L% Very Important Record User Searched

, w Verified Interchanged Result Under Source

3 % Very Important Resource Under Search

4 Vital Information Resource Under Siege
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The term Internet means ........
aoéaa&éf @5

Options :

L Interconnected Network

, w International Network

Interactive Network
3 0%

4% Internal Network
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SWAYAM platform was developed by Ministry of Education, |IT Madras and ........
Qydho S TAITY) @é)&’)a&o S A] Doegno(BEs T, 0.0.8 e, HBcw.....
Options :

NPTEL
1. ¢

, » NCERT

, % UGC

Both Aand B

% A 508d5n B Bothid
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What is the full form of USE as used in computer-related activities?
goaytabd Homohodd 5065152530@655 &H@A0DD dw. dR. 8
e wrdoo

Options :

Universal Security Block
1. %

Universal Serial Bus
2.

United Serial Bus
3. %

None of the above

259 5D
4. %
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weeenns 1S @ type of memory circuitry that holds the computer's start-up routine.
Boaggeoth (artogs BBSB5E a’:eaamg"é erE 48, Shand 8o

B
Options :

L% RAM

- RCOM

RIM
3. %

. Cache Memory
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In which year did the word ‘sustainable development’ come into existence?
el @élée)c%’ @) DodHEBo toE6ina HNR6?

Options :

L% 1992

, % 1978



1980
3.

4 x 1987
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The tropical region lays between ....."Nto ......... s
syode (@oddm .....0 Hod......... 05 &0y esonob

Options :
| 10.10

, % 20,20
5 % 30,30

40, 40

4, ®
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What is the total percentage of nitrogen gas in the air?
mD&® Jeta srand Sndo FFo Jos ?

Options :

12 per cent
12 3o

1. =

21per cent

5 % 21 Jpso

78 per cent

3¢ 78 2vddo

87 per cent

4% 87 arso
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Which of the following processes explains the working of a geothermal power plant?
BN o BB ﬂ:ﬁ:ﬂém@eﬁ H5% rotn HOEHD BB

Options :



use of potential energy to produce electricity
. DgHhE &SI Sogray $8 DAGEHO

use of thermal energy to produce electricity

Lo OO5IB SHSSH e5EE DGO

use of kinetic energy to produce electricity
. DeghE 6SBIH K3sGE I§ HADrKo

use of tidal energy to produce electricity
DEE SSSHD eoo E§ HITEKO
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Kyoto Protocol (1997) was related to.......
1997 &%¢5° (£8¢5°se BHNE HomofoNSh
Options :

Protection of Ozone Layer

| x 885 5% Sode

Reduction in Green House Gas emissions
- @é}éxﬁs rﬁe}t’.}‘j EyLTe 1Y) émgcso@?ﬁ) é@oaﬁ)@

Conservation of Biodiversity
| x DTES0)B H655m

Limiting the rise in global temperature
503 3B 1HibEerh HBhEo Sk

4. %
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Which was a famous Cultural and Educational Center of Northern University
in ancient India

(@8 8 &858 DEDogoH) HE0BS FoysE &)mﬁéo@ﬁ?ﬁa&
Options :

Takhyasila
1. %

5 % Bikramshila

Valabi University



Nalanda
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Educational TV was first introduced in India in the year......
20805E" FnisBIbr Doy .3 D @’}5%33@&6 2oRdEBo

Options :
1961

1. ®
5 % 1959

5 v 1968

4 % 1965
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Which of the following is an example of non-conventional learning programme in
India?
508c5rs® Frodorabss g5 eBgBINENSL eorirdes

Options :

Information Technology
DEPTE FoBHES

Dentistry
5083 Eg3m

2. %

Journalism
. @S cHED

Hotel Management
rortod s
4.
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Every system of education is based on?
8 g été@ 5}233_3.':1“_ et Gob

Options :



Ideology of nation
L B4 erdererdn

Social development
. Sﬂo?;:asoéla'aag

2.
Intellectual development
3. 3355&63%
Skill development
SR
4. %
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CLASS stands for

CLASS edm

Options :

Complete Literacy and Studies in Schools
1. %

Computer Literates and Students in Schools
- Computer Literacy and Studies in Schools

Centre for Literacy and Studies in Schools
4, %
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E 1

Z] - x

Let F: [0; | R be a continuous function and J' f(Hdt :%x, XE [0. . Then the value
e 'D -

2
1k
of fl=1|is
! 4}'
Options :
NE)
1. ®
V3
4
2. %
%
'\,-"5
2
3. ¢
1
3
4. ®
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Define d: N? >R by d(x.y)=1+x+yVx,yeN and d(x,x)=0.

Consider the following two statements:

(A)  Neighbourhood of 3 with radius 3 with respect to the above metric 4 is {3}.
(B) Neighbourhood of 3 with radius 6 with respect to the metric 4 is {1,3}.

Then which of the following is true?
Options :
(A) is true and (B) is false

1. %

(A) is false and (B) is true
2. %

Both (A) and (B) are false
3. %

Both (A) and (B) are true
4. &
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Let / and g be twice differentiable real valued functions on R satisfying f'(x)=3g(x) and
g'(x)=-3f(x)forall xeR.If h=f>+ fg+g’. then "=
(Here £2(x) = f().f(0).(f0)®) = f(¥)g(x))

Options :

36 fg
-36 fg

18 fg

-18 fg
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Among the following sets in R?, the Euclidean space, an unbounded set is

Options :

g 3
2. ¥ 1ol

]
d(x,v): x
L 2" )

{wns i <100
2. ®

{(.\‘. ¥ x4 < 1)
3. %

{('\“ .1') ; .\'2 —l‘l":|r < 1}
4.«
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1

n =

aﬂ

Let > a,(x-3)"=1-x*+x* —x°+..(0<x<1). Then lim sup
n=0

H—

Options :
5
J10
1.+
)
J5
2. %
1
22
3. %
1
x-'E
4. %
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Consider the statements:

(A)  The set of numbers in [0,1] whose decimal expansions do not contain the digit 7 has
Lebesgue measure zero.
(B) Every Lebesgue measurable set is a Borel set.

Which of the following options is correct?

Options :

(A) is true and (B) is false

(A) is false and (B) is true

Both (A) and (B) are false

3. %

Both (A) and (B) are true
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The values of £ for which the series i‘ i—51'11l ' converge are
~=\n n

|
¥

Options :
g L1
1.«
1
k<—
2. % 3
1
O<k <=
3
3. %
k=0
4. %
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Let S={(x.y.2) eR3:x* + y* + 27 :1}. Then J'{.rz +y+z)dA=
S

Options :
_JT
1. ®
8
—
3
2. %
|
—
3.%
4
=
3
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If a square matrix of order four has eigen values +,/+./—3. , then which of the following is not

true?
Options :
A =947
1. ®
A*+37=0
2. %
A +34 =0
3. ¢
A =94
4. ®
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If (x,.,.2,) is the unique solution of the system of linear equations
140x + 97 y+97 - =237

97x +140y +97:- =151

97x + 97y +140: = 280,

then (x2 + vo + 23 )=

Options :
6
1. ®
10
2.%
8
3. %
9
4, ®
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4 is a square matrix of order 4 whose eigen values are 0,2,4,6. Using this information which
of the following can’t be found?

Options :
Rank of 4
1. %
Determinant of 4" 4
2. %
Eigen values of (4+1)"
3. ®

Eigen values of 4’ 4
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Consider the following two statements:

(A)  f(x.»)=x"+4xy+ " has no minimum at (0,0).
(B) f is not positive definite.

Choose the correct option among the following.

Options :

(A) is true and (B) is false

1. %
, (A) is false and (B) is true
Both (A) and (B) are true
3.9
Both (A) and (B) are false
4. %
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Let  and 7 be subspaces of R’(R) and dmZ =dim¥? =6. Then dm((7) will be at least

Options :



1.

4
2. %

5
3.8

6
4.8
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Consider the following statements concerning three subspaces U,V,W of a vector space

X(F).

(A) dm(U +V + W) =dmU +dmV +dmW —dm(U [ 17) —dm(V (W) —dm(T [ 1) is
always true.

(B) dm(U + V) =dmU +dim V7 +dim(L7 V) is always true.

Choose the correct option among the following.

Options :

(A) is true and (B) is false

1. %

(A) is false and (B) is true
2.¢

Both (A) and (B) are true
3 0%

Both (A) and (B) are false
4. %
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Let T be a linear operator on R?(R) given by T(x.y)=(—y.x). Then the trace of T° is
Options :

0

1. %



0. &
2
3.
2
4. 8
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a b
Consider the matrix 4=| N where a+b=c+d . Then the eigen values of 4 are
£

Options :
a—c,ctd
1.«
a+c,c+d
2. %
a+c,c—d
3.8
a—c,c—d
4 ®
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.l—c?52xﬂh::
X

= et o]

Options :

2| N
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If 7(z)=u(x,y)+iv(x.y) is analytic in an open connected set Q and au+bv+¢c=0 for some

constants a.b.c, then f f(;) iz =
|:|=1 =
Options :
2mi
1. ®
—27i
2. %
Ti
3. %
0
4.
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The number of analytic functions / in a neighbourhood of origin and for which

fl—|+f"—|=0YneNis
\ 1) \ 1
Options :
0
1. #®
1
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The radius of convergence of Taylor series of f(z) :%,4 about the point z, =1+ is
7 -

Options :
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If f(z)= " 25 =" is Maclaurin series of f(2) in |z <1, then the number of poles of f(z) in
n=0

Options :

1
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' : ; - T
If ¢ is the circle z=2¢".7[0.27]. then [sin’ ‘d: =
‘('__, L= —]_
Options :
0
1. ¢
7
2. %
2m
3. %
—
4. %

Question Number : 73 Question Id : 5171449967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

0.n=23..... If Zdenotes

n=-2 =

Consider the function f(z)=> a,:".a,=1.a,=-1.3a,+4a,,—a
n=0

the number of zeros of f(z) and P the number of poles of f(z),then Z-P-=

Options :
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The circle of convergence of f(z)=— : —about the point =, :l is
(22 +1)(z +1+1) 4
Options :
2:-1=+3
1. %
|: — 1‘ = «g"g
2. %
|2.' 3 1| = x?
3.9

Rz-1=+7
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Consider the polynomial f(x)=x"*+2x" —3x* —4x+2 over the field of rational numbers Q. If
E is the splitting field of f(x) over @, then the degree of E over Q is

Options :

4
1. #

2
2. %

2
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Which of the following numbers is not an irreducible element over Z[i]?

Options :

3+2i

5-i
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The number of subgroups of the permutation group S4 is

Options :
20
1. %
25
0 &
30
3.9
18
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The number of distinct conjugate classes of the Dihedral group Ds is

Options :

2
1. =

4
2.¢

6
3 &

10

4. %
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Which of the following pairs of polynomials in Z:[x] have same roots in Z;?

Options :

F(3) =32 -4, glxy=x"+3%

1.
f(X)=x -4x*, g(x)=x+2x
2. 0w
Jia)= x* —4x, )= Y 4x
3. %
Flay= x4+ 2x+3, g(x)= X +3x+1
4. %
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A field among the following is

Options :



Clx]

(x2+2)
1 #®
Q[x]
(3 +4)
9 %
Zs[x]
(xZ2+3x+4)
3.9
Zs[x]
{x24+2x+2)
4. ®
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Consider the subring R= Jl P.ge’Z.q odd of (@, +, .). Then the number of maximal ideals

2.y
q
in R is

Options :
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Let £ be the extension of @ of smallest degree such that all the roots of
f(x)=2x"—x" —3x" —4x+ 6 Q[x] lie in E. Then which of the following is not a correct
statement?



Options :

x* +1 splits completely into linear factors in E.

1 #®
E is the splitting field of x* +6x +10.
2. %
E is the splitting field of +* +x* +9x+9.
3. %
x*—x? -2 has all its roots in E.
49
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Let neN, 4 =mn+ln+2.}and T={p. 4} .. where ¢ is the empty set. In the

topological space (N, T) consider the following statements:
(A) The closure of {2,4,6,8,....} is N.

(B) Theset{1,3,5,7,...}is an open set.

(C)  There are only three open sets containing 3.

Which of the following options is correct?

Options :

(A)is true, (B) is false and (C) is true

1. ¥
(A) is true, (B) is true and (C) is false
. ®
All the three statements are false
3. %
All the three statements are true
4. %
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Consider the following statements:

(A)  Every completely regular space is a Hausdorff space.
(B)  There are normal spaces which are not compact Hausdorff spaces.
Choose the correct option among the following.

Options :

(A) is true and (B) is false
1. ®

(A) is false and (B) is true
2. 0w

Both (A) and (B) are true
3. ¢

Both (A) and (B) are false
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lm (1—@+%@+...—”v{;—n—logfn]:

n—+C

Options :
Le 1
1
0 &
0
3. %
2
4. %
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n—= j)

H

. . i

lim —ﬂsm .\'|c05‘ xdx=
0

Options :



o

1. -
5
ir
2. F4
2
3T
3.9
,_1
RFa
4. B
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-~
-

|
lo [

|I|
r‘—‘1

Consider y'(x)+2y(x) = f(x) for x=0.y(0)=2 and f(x)= . Then y(x)=

Options :

2¢™ coshx for x<[0.2) and ™ for x < [2.=)

1L.¥

2¢* coshx for x£[0.2) and ™ for x [2.)
2. %

2¢™* cosh2x for xe[0,2) and 7" for xe[2,)
3. %

1+ coshx for x£[0.2) and e™ for x=[2.)
4. %
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Let f and g be two differentiable functions on R such that /"+ f=¢ and g"+g=f. Then
f+gis necessarliy a



Options :

constant function

1. %
linear function
2.
quadratic function
3. %

polynomial function of degree 3
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The real values of p for which " +2py"+ y =3 admits solutions y = f(x) with infinitely many
critical points are

Options :

‘p <1
1.+

|p <2
2. %

‘p =1
3. %

‘p| =2
4. %
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The set of values of L =1 such that x*1"(x)+v(x)=0.1<x<L. v() = v(L) =0 has a non zero
solution is

Options :




2.8
[ nx
{e‘ﬁ ZHE}\-T‘
3%
= |
lel® neN.nodd ‘
4. % ) i
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y = y(x)is the solution of y"—31"—3'—2y=0 such that lim v(x) =0. Then the values of a.b.c
X—»an

and d satisfying @1(0)+51'(0)+cy"(0)=d are respectively

Options :
1,0,1,1

01,11
2. %

1,10

3.53

1,1,1.0
4.
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n_.

Consider the basis of solutions of Zd—l =0. Then the dimension of subspace of real

o dx
solutions of this differential equation that satisfies lm y(x)=0 is
Options :
=
1. %
3

2.9
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The eigen values of the partial differential equation

- =2
il ou
— =k—. u(x.0) = f(x).u(0.1) =0, u(L.f) =0 are
ot ox”
Options :
" 5 .
(2nmy .
! —— | :REN {
Uz ) <]
L%
l“ nz }
| neN}
|97 |
2.9
r'/ \2 R
ni
{ | ﬁf[
\ 2L ) [
. ]
((nx 1
1 ReEN
LY J
4. % v A
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The number of solutions of the boundary value preblem 1" +4y=0,1/(0)=11(7)=-11is

Options :
one
1. %
two
2. %
Zero

3.



infinitely many
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The partial differential equation f f +6 AO_:- —16?? =0is
ox~  oxdy v
Options :
parabolic
1. %
hyperbolic
2.9
elliptic
3. %

non homogeneous
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Let u(x.r) be the solutionof u, —91u_=0.—xw<x<w. >0,

2

w0=7@={ ° hi<2
u(x.0)= f(x) =+ ;
‘ 10 i |>2
1 if |d<2 r1)
1,(x.0) = g(x) =+ {f |\ . Then uf U.l =
0 if |x>2 \ 6)
Options :
7
1. %
;
7



o | =

=
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The number of solutions of y"+16y =smx. ¥(0) = 1‘ ; ‘ =1is

Options :

one
1. #

ZEero
2. %

two

3.8

oo
4.
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The largest interval containing zero on which the solution of 1" =2x". ¥(0) =1 is continuous is

Options :

(-2,2)
1. #

(-1,1)
2. ¥

(-3.0)



(-1.0)
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H

- e B y
if S,,=>.J*,then % is a quadratic in n, say an” +bn+c, where a+b+c=

j=1 2n
Options :
1
1. ¥
2
2.8
3
3. %
4
4. %
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Newton's iteration formula to the square root of 5 is

Options :
( 5
S | S o
‘-"ii‘ i J‘n—l eE . ‘
'1n—1
1. %
3
X =X, 4 +—
n-1
2. %
5
zfn =X S —
Xo1
3.9
5
3X. =X b=
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The least square line that can be fit for y(x)=¢" on the interval (-1,1) is y=a, + a,x, where

=
Options :

cos 1

cosh 1

sinh 1

sin 1
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Suppose y = f(x) is a periodic function of period 3. A trigonometric sum that includes the
2

1

following data points of y= f(x)
x 0 1

f@) | 0 1
is y(x)= Fr! 1-cos=Zx | for some appropriate k. Then 1.| 37 | =

Options :
1

|

| La

4. %
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Correct Marks : 2 Wrong Marks : 0
1 1
Let J{}r)=f()="}3d1-. I{vl»‘):_[ya’r. Then the extremals to J subjectto I{y)=1 and the
0 [i]
boundary conditions 1(0)=y(1)=0. v(0)=y(1)=0 is y=ax’ +bx" +cx’ ,where a+b+c=

Options :

2.
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1

Consider the functional J(y) = j‘(_v':' — 3 +2xy)dx . Then the extremal of J subject to
0

V(0)=0.y()=0Iis y=x—Fksinx, where k=

Options :

cosi
1. ®

sint

coseci
3.

secl
4. %
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The number of extremals of J(y) = [(y'l —4y* ) dx subject to ¥(0)=0=1(7) is
0

Options :



1. %

1
2. %

2
3. %

o
4, &
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1
The solution of the functional J(y) = _[ex M-"l 2 dy s
0

Options :

foxy
y(x) = scc“li £, !— b
\ a

1. %
i X
A
y(x)=cosec 1‘ — |+b
% e
2. ;
£ x
ik o - |
¥(x)=cos™!| — I-—b
\ a )
3. %
[ x
-l e
y(x)=sin™| — |+b
: \a )
4. ®
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1
The eigen values of g(x)= f(x)+ 4 |°[x+r}g(r] dr are the roots of the quadratic equation
0

Options :

A —124+12=0



A+124-12=0

2. W

A +124+12=0
3. @

A_124-12=0
4. 8
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The initial value problem corresponding to the integral equation
Yx) =1+ [(x=DF (@)t + A[ (= x)p(n)dr is
a o
Options :

3"(X) = A(x) = F(x). ¥w(0) =1 3'({0)=0

1. ®
V() + () =F(x). (0 =L 1(0)=0
2.¥
(%) —2Av(x) = F(x). ¥(0) =1, ¥'(0) =0
3. %
V() +240(x0) = F(x). v(0) =1, ¥ (0) =0
4, ®
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A ball falls from a height onto a fixed horizontal plane. The coefficient of restitution is ¢ and
the height reached by the ball in the n' rebound is hn. If the ball travels a distance d before
coming to rest after a time r, then the ordered pair (d, t) is

Options :
' » [2h )
‘—h cothl. Se |'—h|
\ l1-e) g |
1.«
i & l_?_'.
| h cothl, e |28
| 1-e\ h )



+e |2h

‘—h tan i1, [—
\ 1-e\ g )
3%
‘ h cothl, s |—h :
| 1-e\ g/
4. ®
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The torus formed by rotating the circle x* + (v —a)* =4* (a > b) about x—axis has moment of

inertia is %k. where M is the mass of the body, in which k=

Options :

4a” +5b°
1. #

Sa° +4b°

2. %

3a® +4b*
3. 0%

4a” +3b°
4.+

Question Number : 111 Question Id : 51714410005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

From a vessel containing 3 white and 5 black balls 4 balls are transferred into an
empty vessel. From this vessel, a ball is drawn and it is found to be white. What is the
chance that out of 4 balls transferred 3 are white and 1 black is

Options :

1/9
1. %

1/8
. ®

17
3.9

16
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Match the inequalities

a) Holder's inequality (i} E[|X+Y [FI™s[E |[X|?]1 "™ +]E [¥}7] "

b) Lianpunov's inequality (i) E[| XY [1<[E |X|A"2[E Y]] 2.

¢) Triangular inequality.  (iii) E[ [X|2] ¥? <[ E X3 '

d) Minkowski's inequality. (iv) E[ (X+Y)2]"2 < (E |X]2)"2 + (E|Y]2)2
(v) E[(XYY] = E[(X*)] E[(Y?)]

Options :

(@) <> (iv); (b) <= (iii); (c) <= (Vv), (d) < (i)

1. %

(@) < (ii); (b) < (iii); (c) <> (iv), (d) <> (i)
2.

(@) < (ii); (b) <> (V) (c) & (i), (d) & (v)
3%

(@) <> (v); (b}« (ii); (c) <> (i), (d)<>(iv)
4. %
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Let {Xn, nz1} be a sequence of random variables satisfying the probability and
property are given below. Among the following statements Correct statement(s)
is/are:

(i) PXn=n]= i—t and P[Xn=0]=1 —idoes not hold almost sure convergence.
(i) P[Xn==n"]="1%, »> 15 does not hold convergence in probability.
(i) P[Xn=n] = n—lz and P[Xxk=0]=1 — niﬂdoes not hold convergence in quadratic mean.

Options :

(1) . (ii)

1. %

(ii) . (iii)

2. %

(i), (iii)

() . i) . (i)

4.
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Let {Xn. n21} be a sequence of random variables satisfying the probability and
property are given below. Among the following statements correct statement(s).
(i) PXn=z2"=20m"0g& P[Xn=0]=1-22" holds Central Limit Theorem.

(i) U[-n, n] does not hold Central Limit Theorem.

(iii)y P[Xn == 2" = %2 does not hold Central Limit Theorem.

Options :
L x O
L w (. i)
Lo (i)

(1) (ii) (iii)
4. ®

Question Number : 115 Question Id : 51714410009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Among the following statements, identify the correct statement(s):

(i) A random sample of size 100 is taken from a population whose mean is 60 and
variance is 400, using central limit theorem, the probability for mean of the
sample will not differ from 60 by more than 4 is 0.9546. (Assume: P[0<z<c]
values are 0.1112, 0.4773, 0.6826 when c= 1, 1.2 and 2).

(i) Central limit theorem gives us the fact that the empirical frequencies of many
natural populations exhibit a bell-shaped curve and it provides a simple method
for computing approximate probabilities of sums of independent random
variables.

Options :

(i)

1. ®

(i)

2. %

L &

Neither (i) nor (ii)
4. ®

Question Number : 116 Question Id : 51714410010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Among the following statements(s), identify the correct statement(s) related to a

characteristic function ¢(in the usual notations):

(i) A function ¢ on R is a characteristic function iff it is sem-definite and continuous.

(i) A function & on R is a characteristic function iff ¢(-=2)=0, &(=0)=1, ¢(t)=d(-t), convex
and fima(t)=0.

(iii) A continuous function ¢(t) is a characteristic function iff #(0) =1, &(x, A) = [la(t-u)
e dt du and it is bounded over (-=,=)

Options :
(i), (ii)
1. %
(iii)
2. ®
(i) (if) & (iii)
3. %

None is correct
4.+
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Identify the correct statement among the following: (in the usual notations)

(i) If {Xn, n =1} be the sequence of random variables with distribution function
Fn(x)=0, if x>c; and Fn(x) =1, if x=c; then the modes of convergences in probability
and law are equivalent.

(ii) Consistent estimator is not necessarily unbiased, may not be unique, may be
meaningless and Tn(X) is consistent if V(Ta(x))—0 as n—< and Ta(x) as n—= is
unbiased.

Options :

Neither (i) nor (ii)
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Let {Xn. n= 1} be a sequence of square integrable independent random variables with

oo

2
a
n=1—2 < = then the sequence holds law of large numbers.

Options :



Bernoulli's weak

1. %

Khintchin's weak
2. %

Chebychev's weak
3. %

Kolmogorov strong
4.
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Match the density f{x) with the correspending Variance(s)

a) 6x{1-x); O<x=1. (iy 1/20
b) %2x?e*; x=0. (i) 3
c) Ve (x+1); -1<x<1. (i) 2/2

d) »*if O<x<1;and 3(2-x)® if 1<x<2. (V) 17/300
(v) 1/24

Options :

(@) < (i); (b) <= (iii); (c Je=(ii), (d ) (V).

1. ®

(@) < (ii); (b) < (ii); (c Je=(i), (d Je=(iv).
2. ®

(a) <= (I): (b) <= (ii): (€ Je=(ill) , (d Jez(iv).
3. ¢

(@) & (ii); (b) < (iv); (c J(i) . (d )e(iii).
4, %
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Among the following statements, identify the correct statements

(i) The equality of mean and variance is necessary and sufficient condition for a
power series distribution to be Poisson.

(iiy The probability that three points selected randomly lie on a circumference of a
circle will lie on a semi-circle is 0.75.

Options :

Lx O
, x ()

(i), (ii)

3.

Neither (i) nor (ii)
4. ®
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Among the following statements, identify the correct statement(s)(in the usual

notations):

(iy If the moments of random variable X are E[X" = 0.6, r=1.2, ... then P[X=0]=0.4
and P[X=1]=0.60.

(i) If Aix) = 22, x>0 then the density of Y=x3 is Weibull distribution with
parameters (2, 1/3).

Options :

(i)

1. ®

) % (if)

(i) & (i)

R4

Neither (i} nor (ii)
4. %
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The daily consumption of electric power in millions of kilowatt-hours can be treated as

a random variable having gamma distribution with parameters 7= 2 and a=3. If the
power plant of this city has a daily capacity of 12 million kilowatt-hours, what is the
probability that this power supply will be inadequate on any day?

Options :



0.0625

1.

0.0375
2. %

0.375
3.

0.625
4.%
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Among the following, identify the correct statement(s) (in the usual notations):
(i) The distribution function of Cauchy variate is F(x) = % §+ Tan‘lx}where D<x<z0.
(ii) flx) =1-|1-x| for 0<x<2 is a probability density function of random variable X.

Options :
(i)
1. ®
(i)
2. ¢
Both (i) & (i)
3 %

Neither (i) nor (ii)
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If x1, x2, ... . ¥n be the random sample of size ‘'n’ drawn from an exponential
distribution with density f(x) = ue™; x= 0 then the distribution of w=x(r+1)-x() is
(in the usual notations)

Options :

o e'r.ﬂ-'-"

(o4 e-an’.W



(r+‘1 )O, e-(T""l]O‘.W_ For e'TE‘.W
3. %

(N-r)o. e n-new
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If X and Y are two independent and identically distributed standard Cauchy variates
then the density of U=XY is (in the usual notations)

Options :
I:
A2(14+x2)(1+y2)
1. %
2log|u|
F(u?-1)
2. %
log|u|
3 % x(uz-1)
2logu
Au+1)(u—1)
4.8
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Among the following, identify the correct statements, based on the relation between
Z. t. F and #?(in the usual notations):
(i)  If k=1 and k2=n then t> = Fin.

(i)  If ki=n and ko= then Z= % log E]
(iiiy If ki=1 and k2=-z then F1.= = y2).

2
(iv) If ki=n and kz== then F= [ﬂ

Options :



(1), (iii). (iv)

(). (i), (i), (iv)

4. &
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Amaong the following statements, identify the correct statement(s) (in the usual

notations):
(i) If X follows Binomial(n,p) where p follows Uniform over (0,1) then X follows Beta
First kind
(i) If X follows Binomial(n,p) where p follows Beta First kind then X follows Beta
First kind
(iify If X follows Binomial(n.p) where n follows Poisson then X follows Negative
Binomial.
Options :
(i)
1. ®
(il
2. %
(iii)
3. %
(1) (ii)
4.
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Among the following statements, identify the wrong statement(s) (in the usual
notations):
i) The confidence interval with 1-a confidence coefficient for the variance of the
normal distribution, when mean is known, is
P[ u-y?s’<c?<p-y?s? ] = 1-a where 2 is with level ¥ .
ii) The confidence interval with 1-o confidence coefficient for the mean of the
normal distribution, when standard deviation o is known, is
Plt-Z o/Vn=usx+Z c/yn | = o where Z is with level % o.

Options :

(i)

1. %



Both (i) & (ii) are correct
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Ameong the following statements, identify the correct statement(s) (in the usual
notations):
(i) Letx1, x2, ... xn be a random sample of size ‘'n’ drawn from logistic family has
monotone likelihood ratio with location parameter 6.
(i) Let x1. x2. ... xn be a random sample of size 'n’ drawn from Beta(a.b)
distribution of first Kind then the family has monotone likelihood ratio for ‘a’.
(iiy Let x1, x2, ... xn be a random sample of size ‘n' drawn from Hypergeometric
distribution with parameters (n.m.M), where m is the only unknown parameter
then the family follows monotone likelihood ratio in x.

Options :

(1), (i) (i)
1.+
- (1), (i)
yw (i (il
L (1), (iit)
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Among the following statements, identify the correct statement(s) (in the usual
notations):
(i) Let x1, x2, ... xn be a random sample of size 'n" drawn from a population with

density fix) = 8.x1 where x21,8>0 then [[™, x, is minimal sufficient for 6.

(i) Letx1, x2, ... xn be a random sample of size ‘n’ drawn from Uniform (0, 8), 0<6<1
then xpn) is the sufficient statistic for 6.

(i) Let x1, x2, ... xn be a random sample of size ‘n’ drawn from Uniform (8-12 , 6+1%),
then T=(xm), xm) is jointly sufficient statistic for 8 is not complete.

Options :

(1), (ii)

1. %



(i), (iii)

2. %

(). (i)

3. %

(1), (i) (iif)

4. &
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Among the following statements, identify the correct statement(s) (in the usual
notations):
(i) AtestT of the Hp is said to be unbiased if the probabhility of rejecting Ho when it
is false is at least as much as the probability of rejecting Ho when it is true.
(i) AtestTofHo: 8 = 0o Vs Hi: 6 =8, is said to be minimax if for any T*,
Max{R(T.60). R(T.81) = Max R(T",8a0}, R(T",60)}.

Options :

1. ® (!)

2% ()

(). (i)

3.

Neither (i) nor (ii)
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Among the following statements, identify the correct statement(s) (in the usual

notations):

(i) A sample of 900 members is found to have a mean of 3.40 cm. The test statistic
value for testing can it be reasonably regarded as a simple sample from a large
population whose mean is 3.25 cm and SD 2.61 cm is 1.72

(i) standard error S.E. enables us to determine the probable limits within which
population parameter may be expected.

(i) The discrepancy between observed and expected value of test statistic is less
than Z. times of standard error.

Options :
L (1), (i), (i)
S w0 (D). (i)

e ()00



(). (i)
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The best critical region suggested by Neyman-Pearson takes form r = fi / fo> ¢, the
constant ¢ can be obtained by (in the usual notations)

Options :

Plr>cl=1-a/2

1. ®
Plr>c]=u
2.¢
- P[r<c]<o.
Plr<c]l<1-af2.
4. %
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The ranks of 20 observations of three groups of different feeding materials are given
below.
A: 14 6 1115 13 17

B: 2 4b 7 38
c:16 20 12 19 18 10 © 4

The suitable test statistic value for testing Ho that the three feeds are equally effective
is

Options :
5.99

3.98
2.97

2.57
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Given the score of two groups of persons, with sizes 7 and 9, scores are collected to
test the distribution of scores are identical:

A:10 13 12 15 16 8 6

B:20 14 7 9 17 18 19 25 24

The suitable test statistic value to test the hypothesis is

Options :
u=13

1. ¢

) % R=16

3 % D=9

No test is applicable
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Among the following statements, identify the wrong statement(s):

(1) Most internet polls along with call-in, text-in, write-in polls are representative of
some larger population of interest and attracts people who feel strongly about
the issue.

(ii) In a program, viewers were invited to call one telephone number to respond
“Yes” and another to respond “No” on an issue. There was a charge for calling
either number. More than 1,868,000 callers responded and 67% said “No”. This
is an example of Convenience Sampling.

(1) When the participation in the survey is optional, it can be described as non-
response.

(iv) People answering to the question that they do not understand is an example of
response bias

Options :

(i), (i) & (iii)

1. ¢

(i), (i)

2. %

(iii), (iv)

(1), (iii), (iv)

4. ®
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In a two-stage sampling with equal first stage units, units of each stage are generally
selected using

i Simple Random Sampling

ii. Stratified Random Sampling

ii. Sampling with Replacement

iv. Sampling without Replacement

Options :

L (i) (iii)

L w ()i

L, W
(i) (iv)
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Among the following statements, identify the correct statement(s) (in the usual
notations):
iy Ina group of 200 workers numbering from 1 to 200, a sample of 10 workers
are selected using systematic sampling. Then the probability for selecting one
worker from the numbers 120-140 is 1/10.
i) Let Vran, Vprop @and Vopt be the variances of the usual estimators under Simple
random sampling, proportional allocation and optimum allocation for a given

sample size. If Nn is large, then Vwanz Vpropz Vopt.

Options :
(i)
1. ®
(i)
2.
Both (i) & (ii)
3.

Neither (i) nor (ii)
4. ®
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Among the following statements, identify the correct statement(s):

(i) The Kruskal -Wallis test is based on the assumptions, that the variable under
study is continuous, the observations are independent within and between
samples and populations are identical except possibly in respect of median.

(i) The probability density function of two random variables X and Y is given by

f(x, v) = 1.5(x2+y?) where 0 =x, y < 1 then the regression line of Y on X is

_ —15 55
Y= ﬁx + =t
Options :
(i)
1. ®
2. % i
(1), (ii)
3.
Neither (i} nor (ii)
4. %
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Among the following statements, identify the correct statement(s) (in the usual
notations):
(i) The average loss of information due to missing value in a Randomized Block
Design with 5 treatments in 6 blocks is 20/21.
(i) A 22 factorial experiment conducted in two blocks with treatments:
Block-1: (1) (a) (bc) (ahc)
Block-lI: (c) (b) (ac) (ab)
the confounded term is BC.
Options :

(1)

1. %

(i)

2. %

(1) (i)

3.¢

neither (i) nor (ii)
4. ®

Question Number : 141 Question Id : 51714410035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Among the following statements, identify the wrong statement(s) (in the usual

notations):

(i) Split plot design can be treated in general as factorial experimental design with
unequal number of levels in the factors.

(i) Split-plot design is a confounded design in which the main plot treatments are
confounded with whole plots.

(iii) The error degrees of freedom for main plots and sub plots are p(r-1)(g-1) and
(r-1)(p-1) respectively.

Options :

(iii)
1. v

(1), (ii)

2. %

(ii), (iii)

All

Question Number : 142 Question Id : 51714410036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Let rv be the replications of v treatments and k, be the b block sizes of a general
incomplete block design, then the C matrix is (in the usual notations).

Options :

N'N- rEw
1. %

A= IN'N

rlv- N k'N
3.¢

(r-3)lv = AEw
4. ®

Question Number : 143 Question Id : 51714410037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Among the following statements, identify the wrong statement(s) (in the usual

notations):

(i) In a hypothetical market, there are only two brands A and B. A customer buys
brand A with probability 0.7 if his purchase as A buys and buys brand B with
probability 0.4 if his last purchase was B. The proportion of customers buy
brand A and brand B in the long run is [0.667 0.333].

1
(i) The stochastic matrix P= [i 5] is regular.
2 2
Options :
i
. (1)
- (i)
(D). (it)
3.¢

Neither (i) nor (ii)
4. %

Question Number : 144 Question Id : 51714410038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The nature of states of the Markov chain with transition probability matrix

0 1 0
P=(2 0 Zlis
2 2
0 1 0
Options :
Finite irreducible and all states are ergodic.
1. %
Finite reducible, all states are ergodic, all states are null persistent.
2. %
Finite irreducible and all states are ergodic, and all states are non-null
persistent.
3. %
Finite irreducible, all states are not ergodic, all states are non-null persistent.
4.

Question Number : 145 Question Id : 51714410039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The mean vector and variance covariance matrix of [Y Z1 Z2] are [ 2 0] and

10 1 -1
ll 7 3 |.The best linear predictor Y= Bo+p1Z1+p222 estimate of B vector is
—1. 3 2
Options :
3 1 0]
1. ®
3 2 0]
2. %
3 1 -2]
3. ¢
4% 3 2 2]

Question Number : 146 Question Id : 51714410040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

1 4

The first principal component when the covariance matrix == [4 100

notations of variables)

] is (in the usual

Options :

0.999 X1-0.040 X2

0.040 X1 + 0.999 X2

2.¢

0.707 X1+ 0.707 X2
3. %

0.707 241 +0.707 22
4. %

Question Number : 147 Question Id : 51714410041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The generalized variance of a tri-variate normal distribution with sample covariance
4 3 1
matrix S = [3 9 2] is
2 ik
Options :

4667
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2. %

3 % 36
98/18

4,

Question Number : 148 Question Id : 51714410042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The arrival rate and service rates of a M/M/1 queuing system are 3 and 4, then the
probability of the system emptiness is

Options :

0.15

) 0.25

0.35

0.45
4. ®

Question Number : 149 Question Id : 51714410043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Among the following statements, identify the correct statement(s):

(i) In a pay-off matrix, if each element of a column is dominated by any other column
then delete Inferior elements column

(ii) If the game does not have a saddle point, then Simplex method is used to solve a
3x3 game.

(iii) Graphical method is used for games of order2 xnormx 2.

Options :
i & ii
1. %
) % i & il
i & i
3.

i, 0 & fii
4.



Question Number : 150 Question Id : 51714410044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In an inventory EOQ model, among the following wrong assumptions is / are

(i) Annual demand is unknown and not a constant

(i) Estimates of carrying and ordering costs are inaccurate

(iiiy The ratio of ordering cost per order placed to carrying cost as a percentage of
average inventory is always a constant.

(iv) Instantaneous receipt of orders not occurs exactly when previous inventory is

used up.
Options :
All
1. ¢
(ii) & (iii)
2. %
(iii)
3. %
(1) (ii) (iv)



